[E—

3

8

SM4E6H13H &io.l

w B H & E B 2
LLHTERIER

M B &

TEFETIIZOWT

(X SZBRA N XN E 75 PRI T S EREE L)

T EH# %

T H#A

2D T

A L& B

ZHERH

LIRS

VR ST N XNV TS PR T S ERER L
FOTHREX UM =TH 2 4 9% 3

ELT. BE PAIRA S, REERWEFDOE

L EEHOZEANSTME6FE2H2 8HET

BRI —fBBe S AAL

ML (RfE) BERE (k1) ROEXTHEFEZ
B DRAIEZ RS SR =AW T (Bl 2)

DEHY

BEED 65 [THEFAEZNOERIZOWT (HX
MRRAVIWE TSPEHERTE) | OEEEOH

124, 630, 000H
ObiE&ER 11, 330, 000M)

AR —THE 1 4% 1 2%
A TGAR
&R 5=



ML (RRR) E#HE Al 1

THEE 0AEETFIEE 00400000102 EHXD T=
E ] ERLE ] _ EEIESE
%, BRVRA X T VR Baslk LS
JB1T5 R =1 H249%&3
BT EA TRAEHDOEH 765 Sf 64 2H28H EC
ALATE FIFRIT — e = A AL _ ] T ]
FAAL H S 4% SHI2H IR0S EFaaEv—EX BALG $8 A A
FEDOHETHETH D [BRUREVIVE TS FERETEH| 3, BRBROBRICHINIZTT, )
Z DO, FELE LN ORREICOVTHEL., TEEIRAOIWEFSFERETEH] OFREB% BREEE > T LET,
. (s 37 5 ER & SEAH A = - BUBRA — A AAL] )
| R-TEHASH BEF33. 5 (A& ETAM A ¢ 15, 05 FffTEaTffiss : 18,55 )
2 MASHER=EEH HEMT. 55 (TR ¢ 0. 058 BRATSFETAM AL ¢ 17,550 )
3 ZEEGASE HEFE A§H16. 08 (EEHEA ¢ 6. 05 HfrEalias : 10,05 )
RETS o
’ AR =
BALRE RAAER S TH A% 25
AL ¥124, 630, 000 ¥ EfMTS [¥136,510, 000
= EE 2EH 3EH
% TELUSBLLES 1 (F) 1 (F) 1A (F) =
(GPif{E) (GPif{E) (GPif{E)
R XA
EHESGRAESH
o 124,000, 000 e
BASHER=FEH
(17.5)
113,300, 000 &AL =X
RZTEBRESH
(33.5)
B 119, 980, 000 N
ZEEMGASE EEREE )




ERXRTERERNICH T IHNEREESFHEANICDONT

1 FHEs
flit&EHEA (2 57)

+ BfEFMER (25/K) =A%t (50K)

25 o o
fﬂ](ii%;;ﬂh; 100x {(1 — (AFLMMFE —SAEREEME) + (FEilitg —FAEEEME) )
O THEREHS (1 34)
HETEOAEADET 2 EEROH 5 EEDS bEE 3 fOFH
© BT EEMEEHR S
ST £ v i % OXBL AT 2O
T A 35 2 8 ] 5
@ MEBTERMEERS
e mlx glE %(m B
S (i £ § - - \ 7L
j?; Ll I TR I P N e
% || FETE om | 1. 54 1 4 14| 0M
?ﬁ ELTE | 1. 55 145 ] 0. 55 | 0. 55| 0O
B | @ MR EERE s
o) =1 (7 5 ST P 2
5
& || seEtpEEeR (35 W L DS ERE D E
BXT—25A4T7INF VA BT —2025A TINS5 v AHEEDZE
MR EE  (254) e DG
EEEEAA (1) R RRER DA E
I1SO14001, =ayor>vayv
}Efk /E‘E’\}ﬁ lzlﬁ /5 4
RS (18 2 1 BEEDERE
2 HffifEE
M S il
- MRS EEAM s | B s &t
R TEbkRaH 15. 05| 18. 54 | 33. 554
MRS EE =SB 0. 0&| 17. 54| 17. 54
SEBMKRAE EEYE 6. 04| 10. 0| 16. 0

A 2



